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SA: BE
H: AN FOME B ZA(SUHLSM/SY - 55)
chel: MBI EEEEE
SA I B (HN) - NBAY - BaS (o) ) HDE2
| | | OMEDS S2 ZIAZAL 100,0002 *100m 10,000
HEDH SRR (SAHLLL/5Y - 55) 654,000 638,000 16,000
SoI|uEL U N 654,000 638,000 16,000
SQIUEL S ARD YA (FOEO A 654,000 638,000 16,000
401 A&HL S 654,000 638,000 16,000
01 A&t 654,000 637,010 16,990
=0 &t 654,000 637,010 16,990
OS2 WOtZ o2 MHIZA 100,000 *120m 12,000
OAHDIS =2 THZAL  100,0002 *200m 20,000
OZEASIE HHIZA 100, 000! *250m 25,000
O=80i2 52 HEX ZA
100, 000! *250m 25,000
ONE0IS W42 FHIZ A 1000002 *250n 25,000
OUTOIS S42 FHIZ A 1000002 *250n 25,000
O=ADZ =2 =& ZAF 100,000 *200m 20,000
OWREDIS OlAR UM 2I| BA
100, 000! *50m 5,000
O ADIS o2 HHIZAF  100,0002 *250m 25,000
OMZDIS MAE M2 HHIZA
100, 000! *200m 20,000
OUOLDIS X2 FHIZ A 1000002 *200m 20,000
OMOlE =2 SEZA 100,000 *250m 25,000
OMBOIS 2 ZTXHZAL  100,0002 *250m 25,000
O2210IE EBH4E HHIZA
100, 000! *200m 20,000
AR0IS HCAY HEXIBA
100, 000! *200m 20,000
O+ HOIS OISt OlAZ ERZTA
100, 000! *200m 20,000
OMHOIS S2 ZTHZAF  100,0002 *200m 20,000
OMN+TOIS MY HHIZA
100, 000! *150m 15,000
O3 20t2 Y2 HHIZA 100,000 «200m 20,000
OBt20tS o2 HHIZA 100,000 *250m 25,000
OSS0lS 42 HHIZ A 100,0002 *200n 20,000
OXNS0S 52 THZAL  100,0002 *250n 25,000
OSS0tE ot OlA2 ZEZA
100, 000! *200m 20,000
OSMHOI2 S22 IHlIZ A
100, 000! *100m 10,000
OA20S 52 THZAF  100,0002 *150m 15,000
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2N BES
HE: SO sYIBRE(SYHYLM/5Y - 5E)
Sl SeIIBES U WY CERE
x s . O &t o8 & & 0] Ak o -
SA B S(BH) - MEMY - BES iz T BlRE2
OUXIOIE BH+2 ZHIZA
100, 0002 *250m 25,000
OSHODIS A58 KY FHIZA
100, 0002 *150m 15,000
OS0IS o2 HUIZAF 100,000 +200m 20,000
OHE0iE 52 ZTHTAF  100,0008 *150m 15,000
ODIE0IS =2 ZTHTAF 100,000 200 20,000
OMEDIS 92 OlAR THTA
100, 0002 +70m 7,000
OSHDIS 52 THTAF 100,000 250 25,000
OHIZDIS 314& HHIZ A 1000002 *200m 20,000
OB HOIE o+ A= ZRHZA
100, 0002 *50m 5,000
$HS YA (FFA)(OIEH/IIE) 119,857 114, 189 5,668
o121 2 gyl 29,497 26,609 2,888
ol 2l 29,497 26,609 2,888
101 oIyl 29,497 26,609 2,888
01 =4 29,497 26,609 2,888
= 0l 4t 29,497 26,609 2,888
oA aREY
10,2002 * 128§ * 17 Al 24122 25,212
OANAQ TR (AEH &)
10,3002 22 #4A] 2H+522 4,285
R 90,360 87,580 2,780
IR 90,360 87,580 2,780
201 Qw2 44,000 44,000 0
01 AtRE2lY| 24,000 24,000 0
=0 24,000 24,000 0
oANREE T 30,0002 * 128 122 4,320
0424 22 2| 10,0002 *62 600
OA% o ®I| S AHEY 242
205,600 *23] 412
O=AE8X 7 22,0002 *128t A 128 3,168
O=AI S EU 7Y 200,000 «6CH*33] 3,600
O=AII, ZRIE £ &SN
300,000 *6CH 13l 1,800
OHBAL 7 TN 2Y
16,0002 22 » 122 384
OYLFZ HYYEE S 7Y 250,002 +33] 750
OBA S M)l £318 AAZE 7
1,060 %355« 122 446
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SN B
M. HESHHHI(2EH)(IIEH/IIE
Ce: I3l (e &
SN BB S(BH) - MBAY - BaS (ggz::) @(ijf;ﬁ% HRE2
Od%I Xz 40,0003 =2CHx12& 960
Oplgo REg AR
15,0003 x6Il x12& 1,080
OANEEER 8% 5 H& 100, 000& *123] 1,200
OYRF=X SZ20AH| 8,000& x554] x 12& 5,280
02 33294l 20,000 20,000 0
= Ol & 20,000 20,000 0
OFrSPIETE=: 900,000& x12& 10,800
Ooste=a 50,000& x12& 600
ORER= 150, 000& = 12& 1,800
OFAMNAIE & R 500,000 43| 2,000
OssXYE & ®&H| 300,000& «12& 3,600
OZEXNE 5 =847l 300,000 43| 1,200
202 044l 35,100 32,400 2,700
02 XY 35,100 32,400 2,700
= Ol &t 35,100 32,400 2,700
OE AN H| 225,000& x13H x12& 35,100
203 YRF=&Y| 11,260 11,180 80
01 JIA2I IR =AY 7,700 7,700 0
= Ol & 7,700 7,700 0
OdHHE 7,700,000 x1H 7,700
02 HRJIAMHERF=EY| 560 480 80
= Ol & 560 480 80
OF A4t R =AY 40,000& *14H 560
04 ENSIIRF=AY| 3,000 3,000 0
= 0ff A 3,000 3,000 0
OFAN2IERF=AH| 250,000& x12& 3,000
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